
1/27/2020

1377

REV

6  OF  71 

585 Western Blvd. 
Turtle Lake, WI 54889

InfinityRetailServices.com

Part No:

Part Name:

0
Sheet:

Drawn By: Date:

Mike

4-Bay Device Rack

Qty: Part Number Description 

1 IRS-VW-1377 4-BAY DEVICE RACK
4 IRS-VW-1410 BASE CABINETS
4 IRS-VW-1405 UPPER METAL CABINETS
4 IRS-VW-1406 LOWER METAL CABINETS
5 IRS-VW-1330 12IN SLOTTED PANEL
4 IRS-VW-1331 12IN MAG PANEL
4 IRS-VW-1332 24IN SLOTTED PANEL
1 IRS-VW-1333 40IN SLOTTED PANEL
2 IRS-VW-1334 40IN MAG PANEL
6 IRS-VW-1407 5IN PANEL SPACER
8 IRS-VW-1411 6IN PANEL SPACER
4 IRS-VW-1342 48IN TICKER SHELF BAY
8  BELKIN SURGE PROTECTOR
8 IRS-VW-1465 Z CLIPS
7  DEVICE RACK WAYFINDERS LISTED ON RIGHT

Qty: Part Number Description

50 - #8x2" STEEL STUD SCREW
16 - 10-24 3/8" MACHINE SCREW

25 - 10-24 WINGNUT
25 90048A201 #8 1.25 FH WOOD SCREW ZINC
1 IRS-VW-1419 DEVICE RACK UPPER CAB CAP-LEFT
1 IRS-VW-1420 DEVICE RACK LOWER CAB CAP-RIGHT
1 IRS-VW-1421 DEVICE RACK LOWER CAB CAP-LEFT
1 IRS-VW-1418 DEVICE RACK UPPER CAB CAP-RIGHT

Qty: Part Number Description

1 IRS-VW-1343 TICKER SHELF PROFILE ENDCAP
1 IRS-VW-1344 TICKER SHELF-FLUSH END CAP
1 IRS-VW-1345 TICKER SHELF-INSET END CAP
1 IRS-VW-1346 AGENT NAME WAYFINDER
4  HEX METAL TAPPING SCREW - 6 SIZE, 1/2" LONG

10  STEEL DRYWALL TOGGLE 10-24, 1/2" HOLE

10  #10 SCREW SIZE, .203" ID , 1" OD FENDER WASHER

10  10-24 X 2" MACHINE SCREW
10  3/4" X 1/4"-20 MACHINE BOLT

15  1/4-20 WINGNUT

20  1/4-20 WINGNUT

4-BAY DEVICE RACK

DEVICE RACK AND BASE CABINET HARDWARE KIT

TICKER SHELF HARDWARE KIT

*WAYFINDER LIST*
- APPLE
- SAMSUNG
- BASIC
- GOOGLE
- 5G
- MOTOROLA
- VERIZON
- LG

TICKER SHELF-FLUSHEND CAP

TICKER MOMITOR
(PART OF THE DEVICE 

WALL TICKER KIT
IRS-VW-1440)

TICKER WALL MOUNTING BRACKET
(PART OF THE DEVICE WALL TICKER KIT IRS-VW-1440)

TICKER SHELF-INSET END CAP

TICKER SHELF BAY (4)

AGENT NAME WAYFINDER

REFER TO ELEVATION 
SECTION FOR TICKER 

JUSTIFICATION

IRS-VW-1436 3/4" PLYWOOD BACKING 
SET BEHIND SHEETROCK
(ADDED DURING CONSTRUCTION) 



B ( 1 : 10 )

1/27/2020

1377

REV

7  OF  71 

585 Western Blvd. 
Turtle Lake, WI 54889

InfinityRetailServices.com

Part No:

Part Name:

0
Sheet:

Drawn By: Date:

Mike

4-Bay Device Rack

B

*REFER TO ELEVATION 
SECTION FOR TICKER 

JUSTIFICATION*

20 AMP DUPLEX CENTER HORIZONTAL
MOUNT (4)

Z-CLIPS (8)

QUAD BOX, POWER AND DATA
20 AMP DUPLEX/DATA 86" AFF

MONITOR OUTLINE

3/4" PLYWOOD 
BACKER OUTLINE

WALL MOUNTED MONITOR 
BRACKET OUTLINE

TICKER NAME PLATE:
- FLUSH TO OPPOSITE SIDE 

  OF TICKER MONITOR
- SET IN 1/2" FROM FRONT FACE

*NAME PLATE
MOUNTED TO 

BOTTOM OF SHELF*



1/27/2020

1377

REV

8  OF  71 

585 Western Blvd. 
Turtle Lake, WI 54889

InfinityRetailServices.com

Part No:

Part Name:

0
Sheet:

Drawn By: Date:

Mike

4-Bay Device Rack

Qty: Part Number ID Tag

5 IRS-VW-1330 - 12IN Slotted Panel A
4 IRS-VW-1331 - 12IN Mag Panel B
4 IRS-VW-1332 - 24IN Slotted Pannel C
1 IRS-VW-1333 - 40IN Slotted Panel D
2 IRS-VW-1334 - 40IN Mag Panel E
6 IRS-VW-1407 - 5IN Spacer Bar F
8 IRS-VW-1411 - 6IN Spacer G

*5" PANEL SPACER WILL CREATE A 4" SPACE BETWEEN PANELS
*6" PANEL SPACER WILL CREATE A 5" SPACE BETWEEN PANELS

APPLE WAYFINDER

D G
A

G
E

G C G C G A G B

B F C F A F FB E G B G A C
F

F A

SAMSUNG WAYFINDER BASIC WAYFINDER

VERIZON WAYFINDER MOTOROLA WAYFINDERGOOGLE/5G WAYFINDER LG WAYFINDER

STARTING AND ENDING PANELS
WILL OVERHANG THE EDGE OF

THE UPPER AND  LOWER 
CABINETS BY 1 INCH


